<'RRino

MC4KR
KammRack

Instruclions

{cm( CRASH (,,)}

According to ISO/ PAS 11154:2006

MC4KR_c rhinoproducts.co.uk



MC4KR:

MERCEDES Sprinter 2006-

s

W\

e

&\

S ‘\

C04 x 8

*optional upgrade*
SA397U x 4[| SA398U x 4 [ | SA430[ |

£

PS519 x 1 [ | PS520 x 1 [ | EXT15-02 [ | SA438x1[ |

LHS x 2 RHS x 2 Centre

2 MC4KR_c



Fitting Kit

= o

PS183 x 8 [ | PS023 x 8 ] MS209 x 16 [ ] FTO1 x 1 [ |

3 =

FW002 (M8) x 16[_| FN006 (M8) x 16| FN085x22 [ | PS020x 8[|

FS293

FS018 [ | FS134 ] Fsos1[ | (M8 x 65) [ ]
(M8 x 25) x 22 (M8 x 45) (M8 x50)x 8 x 12
x 16

PS325 x 8 [ ] FTO5 x 1[ ]

MC4KR _c 3



K519- Sprinter 2006- L2, H1, Twin Doors

@

-+
50kg/110lbs

A\ Al (.

~ 790mm 775m

"490mm 565mm

K520- Sprinter 2006- L2, H2, Twin Doors

@

+
O ———
41kg/90lbs

150kg
Max

p
I\q@

3665mm
5910mm

l
| 2820mm

ot

790mm 775mm

1040mm 490mm

MC4KR_c



PS183

SA398U

PS183/PS325
PS183/PS325

10
o
]
o\
o
N~
]
o)
-
N
o.
n"mm

SA397U

PS325

=

0
o
]
[
.
N~
]
0
-
o\
o

PS183/PS325
PS183/PS325
PS183/PS325

<

MC4KR _c



A Steps 12-20.

FS081 |
FS107

M8 x 50/75mm

PS183
PS325
FWo002

!

Steps 8-11, 16-20.

A

PS183/
PS325
PS023

MC4KR_c



FS134
FS293

PS183
PS325

MC4KR _c



19.

18.

MC4KR_c



FNO85

23.

25.

CLICK!

C1

B1

MC4KR _c



10 MC4KR_c



34.

33.

11

MC4KR _c



39.

40.

—
?Z c /////

@

1 i b |
RIR {vﬁ“ U
_§
=

42.

©

CLICK!

A

=
PS519 /
MC4KR_c

12



45. 46.

30mm MAX

Ls/wl
v

CLICK!

MC4KR _c 13



N\
\\UK+44(0) 151 319 2931 rhinoproducts.co.uk K] saleserhinoproducts.co.uk

51. 52.

14 MC4KR_c

Manufactured by Rhino Products Ltd in the United Kingdom.
Rhino Products Ltd, Rhino House, Deans Road, Ellesmere Port, CH65 4DR.



